PROJECT NUMBER CI 14-007 14TH STREET STORM DRAIN IMPROVEMENTS 05/12/15

			Engineer's Estimate			Trench Line Exc		Weitman Excavation		Canby Excavating		Dirt & Aggregate	
Item	Description	Unit	Qty.	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
1	MOBILIZATION (8%)	LS	1	\$21,500.00	\$21,500.00	\$12,750.00	\$12,750.00	\$14,500.00	\$14,500.00	\$11,000.00	\$11,000.00	\$25,500.00	\$25,500.00
2	TEMPORARY WORK ZONE TRAFFIC CONTROL, COMPLETE	LS	1	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$14,600.00	\$14,600.00
3	EROSION CONTROL	LS	1	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$4,500.00	\$4,500.00	\$3,028.00	\$3,028.00
4	POLLUTION CONTROL PLAN	LS	1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
5	CONSTRUCTION SURVEY WORK	LS	1	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
6	REMOVAL OF PIPES	LF	210	\$15.00	\$3,150.00	\$17.00	\$3,570.00	\$8.00	\$1,680.00	\$30.00	\$6,300.00	\$15.00	\$3,150.00
7	REMOVAL OF INLETS	EACH	3	\$500.00	\$1,500.00	\$400.00	\$1,200.00	\$100.00	\$300.00	\$620.00	\$1,860.00	\$300.00	\$900.00
8	REMOVAL OF MANHOLES	EACH	2	\$750.00	\$1,500.00	\$800.00	\$1,600.00	\$400.00	\$800.00	\$650.00	\$1,300.00	\$1,000.00	\$2,000.00
9	TRENCH DAM AND SUBSURFACE DRAIN	LS	1	\$8,500.00	\$8,500.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	\$7,600.00	\$7,600.00
10	6 INCH CORRUGATED POLYETHYLENE PIPE, 0' TO 10' DEPTH	LF	6	\$150.00	\$900.00	\$84.00	\$504.00	\$145.00	\$870.00	\$69.00	\$414.00	\$119.00	\$714.00
11	8 INCH CORRUGATED POLYETHYLENE PIPE, 0' TO 10' DEPTH	LF	6	\$150.00	\$900.00	\$155.00	\$930.00	\$155.00	\$930.00	\$77.00	\$462.00	\$212.50	\$1,275.00
12	12 INCH CORRUGATED POLYETHYLENE PIPE, 0' TO 10' DEPTH	LF	322	\$150.00	\$48,300.00	\$73.00	\$23,506.00	\$81.00	\$26,082.00	\$84.00	\$27,048.00	\$126.00	\$40,572.00
13	12 INCH CORRUGATED POLYETHYLENE PIPE, 10' TO 16' DEPTH	LF	178	\$200.00	\$35,600.00	\$93.00	\$16,554.00	\$132.00	\$23,496.00	\$160.00	\$28,480.00	\$158.50	\$28,213.00
14	CONCRETE MANHOLES, STANDARD	EACH	2	\$6,500.00	\$13,000.00	\$4,700.00	\$9,400.00	\$4,800.00	\$9,600.00	\$4,500.00	\$9,000.00	\$3,000.00	\$6,000.00
15	CONCRETE MANHOLES, SHALLOW	EACH	2	\$5,500.00	\$11,000.00	\$3,800.00	\$7,600.00	\$4,200.00	\$8,400.00	\$2,800.00	\$5,600.00	\$2,800.00	\$5,600.00
16	CONCRETE MANHOLES, SDMH 4 WITH TWO OUTSIDE DROPS	LS	1	\$15,000.00	\$15,000.00	\$9,000.00	\$9,000.00	\$11,000.00	\$11,000.00	\$6,800.00	\$6,800.00	\$8,000.00	\$8,000.00
17	CONCRETE INLET, TYPE G-2	EACH	3	\$2,500.00	\$7,500.00	\$1,700.00	\$5,100.00	\$1,905.00	\$5,715.00	\$1,500.00	\$4,500.00	\$1,250.00	\$3,750.00
18	DRAINAGE CURB	LF	250	\$30.00	\$7,500.00	\$8.00	\$2,000.00	\$7.00	\$1,750.00	\$7.00	\$1,750.00	\$10.00	\$2,500.00
19	CUNNECT TO EXISTING	EACH	4	\$500.00	\$2,000.00	\$600.00	\$2,400.00	\$1,500.00	\$6,000.00	\$1,800.00	\$7,200.00	\$1,250.00	\$5,000.00
20	STRUCTURES FILLING ABANDONED 8-INCH PIPE	EACH	1	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$250.00	\$250.00	\$950.00	\$950.00	\$2,350.00	\$2,350.00
21	TRENCH RESURFACING, TEMPORARY HMAC 2-INCH DEPTH	SY	300	\$25.00	\$7,500.00	\$15.00	\$4,500.00	\$39.00	\$11,700.00	\$26.00	\$7,800.00	\$46.20	\$13,860.00

PROJECT NUMBER CI 14-007 14TH STREET STORM DRAIN IMPROVEMENTS 05/12/15

			Engine	er's Estin	nate	Trench Lin	e Exc	Weitman Exc	avation	Canby Excava	ating	Dirt & Aggreg	ate
Item	Description	Unit	Qty.	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
22	TRENCH RESURFACING, PERMANENT HMAC 6-INCH DEPTH	SY	540	\$55.00	\$29,700.00	\$58.00	\$31,320.00	\$59.00	\$31,860.00	\$67.00	\$36,180.00	\$44.00	\$23,760.00
23	3/4 INCH – 0 AGGREGATE BASE	CY	90	\$75.00	\$6,750.00	\$60.00	\$5,400.00	\$90.00	\$8,100.00	\$46.00	\$4,140.00	\$65.00	\$5,850.00
24	RELOCATE EXISTING 1-INCH WATER SERVICE	F-A	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
							_	-				-	_
	Bid Totals				\$244,800.00		\$159,834.00		\$181,333.00		\$193,284.00		\$212,222.00

^{*}Mathematical error

^{**} Nonresponsive

Interlaken, Inc	•	GSE, Inc.		Oxbow Constr	uction	3 Kings Enviro	onmental	Landis & Landis		
Price	Total	Price	Total	Price	Total	Price	Total	Price	Total	
\$16,444.00	\$16,444.00	\$20,878.50	\$20,878.50	\$19,000.00	\$19,000.00	\$12,000.00	\$12,000.00		\$0.00 **	
\$7,500.00	\$7,500.00	\$13,558.50	\$13,558.50	\$5,000.00	\$5,000.00	\$16,000.00	\$16,000.00	\$8,500.00	\$8,500.00	
\$1,500.00	\$1,500.00	\$920.00	\$920.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$8,000.00	\$8,000.00	
\$500.00	\$500.00	\$880.00	\$880.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	
\$3,500.00	\$3,500.00	\$4,943.50	\$4,943.50	\$3,000.00	\$3,000.00	\$2,530.00	\$2,530.00	\$3,000.00	\$3,000.00	
\$1.00	\$210.00	\$6.86	\$1,440.60	\$5.00	\$1,050.00	\$15.00	\$3,150.00	\$15.00	\$3,150.00	
\$150.00	\$450.00	\$403.33	\$1,209.99	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$600.00	\$1,800.00	
\$300.00	\$600.00	\$1,330.00	\$2,660.00	\$1,000.00	\$2,000.00	\$965.00	\$1,930.00	\$900.00	\$1,800.00	
\$2,820.00	\$2,820.00	\$4,466.19	\$4,466.19	\$6,000.00	\$6,000.00	\$5,125.00	\$5,125.00	\$2,000.00	\$2,000.00	
\$100.00	\$600.00	\$101.26	\$607.56	\$200.00	\$1,200.00	\$225.00	\$1,350.00	\$120.00	\$720.00	
\$100.00	\$600.00	\$107.99	\$647.94	\$200.00	\$1,200.00	\$225.00	\$1,350.00	\$120.00	\$720.00	
\$150.00	\$48,300.00	\$130.53	\$42,030.66	\$175.00	\$56,350.00	\$150.00	\$48,300.00	\$110.00	\$35,420.00	
\$200.00	\$35,600.00	\$233.09	\$41,490.02	\$225.00	\$40,050.00	\$240.00	\$42,720.00	\$160.00	\$28,480.00	
\$6,500.00	\$13,000.00	\$5,771.63	\$11,543.26	\$6,500.00	\$13,000.00	\$3,195.00	\$6,390.00	\$4,500.00	\$9,000.00	
\$6,400.00	\$12,800.00	\$2,265.25	\$4,530.50	\$5,000.00	\$10,000.00	\$2,540.00	\$5,080.00	\$4,000.00	\$8,000.00	
\$17,557.00	\$17,557.00	\$13,132.45	\$13,132.45	\$15,000.00	\$15,000.00	\$11,880.00	\$11,880.00	\$10,000.00	\$10,000.00	
\$2,100.00	\$6,300.00	\$2,227.17	\$6,681.51	\$2,500.00	\$7,500.00	\$1,815.00	\$5,445.00	\$1,800.00	\$5,400.00	
\$9.00	\$2,250.00	\$6.50	\$1,625.00	\$7.00	\$1,750.00	\$10.00	\$2,500.00	\$20.00	\$5,000.00	
\$700.00	\$2,800.00	\$1,045.10	\$4,180.40	\$2,000.00	\$8,000.00	\$3,735.00	\$14,940.00	\$1,500.00	\$6,000.00	
\$1,000.00	\$1,000.00	\$740.00	\$740.00	\$1,000.00	\$1,000.00	\$2,890.00	\$2,890.00	\$4,500.00	\$4,500.00	
\$25.00	\$7,500.00	\$40.67	\$12,201.00	\$2.00	\$600.00	\$25.00	\$7,500.00	\$15.00	\$4,500.00	

Interlaken, Inc.		GSE, Inc.		Oxbow Constr	ruction	3 Kings Envir	onmental	Landis & Landis	
Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
\$56.00	\$30,240.00	\$43.95	\$23,733.00	\$50.00	\$27,000.00	\$65.00	\$35,100.00	\$70.00	\$37,800.00
\$55.00	\$4,950.00	\$103.86	\$9,347.40	\$50.00	\$4,500.00	\$60.00	\$5,400.00	\$25.00	\$2,250.00
\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
_	\$222,021.00	_	\$228,447.98 *	_	\$236,700.00 **	-	\$241,080.00 *	•	\$192,540.00